
1.  

( )
( )

( )

1
,

2,
1

,
2

s x c s x
U s x

x s c x s

 − + >= 
 − + >


   ,   ( )
1

,
2,

1
,

2

s x
T s x

x s

− >= 
 >


 

( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )
,

, , ,
0 0

s sdU s x du s
u x u s U s x u s T s x U s x u s

s sds ds
= = 

′= − = −    = = 

l l
, 0 x< < l 

0x −→  ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )0 , 0 , 0 0,0 0 0,0 0u T u U u T u U u− − − − −′ ′= − − +l l l l  

( ) ( )0 0
2 2 2
q p

c t ct → = − − + + + 
 

l l  

x +→ l  ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ), , 0, 0 0, 0u T u U u T u U u+ + + + +′ ′= − − +l l l l l l l l l  

( ) ( )0 0
2 2 2
q p

ct c t → = − − + + 
 

ll  

( ) ( )0
p q

t t
−

= =l l  

(a) 

( ) ( )
( ) ( )

( )
( )

( ) ( )
( ) ( )

( )
( )

0,0 ,0 0,0 ,00 0

0, , 0, ,

U U T Tt u
t uU U T T

− − − −

+ + + +

   − −         =   
      − −      

l l
l ll l l l l l

 

( )
( )

( )
( )

1 1
0 02 2 2

1 1
2 2 2

c c t u
t u

c c

   − − −         → =      
         + − −   

   

l

l ll  

(b) 

20
2det

40
2

 − 
= 

  
 

l
l

l     
2

4
l
 is not zero, so [ ]det U  is never zero. 

(c) 

1 1
4 2 4det 0
1 1

2 4 4

 − − + 
= 

 − 
 

l

l , 
2 21 1

0
2 4 4

   − − =   
   

l
, 0,1=l  

 

 

 



2.  

(a) 

( ) ( )0, 2 0,
2

p U P U Q P Q= − + − = +
ll l l  

( ) ( ) 3
, 2 ,

2
q U P U Q P Q= − + − = +

ll l l l l  

( )2 2 p q
P

−
= l , 

( )2 3 2p q
Q

− +
= l  

( ) ( ) ( ) ( )
, 2 ,

q p
u x U x P U x Q x p

−
= − + − = +l l l  

(b) 

( ) ( ) 3
0,2 0,3

2
p U P U Q P Q= + = +

ll l l  

( ) ( ), 2 ,3
2

q U P U Q P Q= + = +
ll l l l l  

( )2 2 3p q
P

−
= l , 

( )2 2p q
Q

− +
= l  

( ) ( ) ( ) ( )
, 2 , 3

q p
u x U x P U x Q x p

−
= + = +l l l  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3.  

( ) ( )1
, ,

2
i tu x t U x e dtωω

π

∞

−∞
= ∫  

Assume 

( ) 1

2

,
,

,

ikx

ikx

c e x s
G x s

c e s x−

 − ∞ < <
= 

< < ∞
 

Displacement Continuity at x s=  

1 2
iks iksc e c e−=  

The difference in slope is 1 at x s=  

2 1 1iks iksikc e ikce−− − =  

1 2
iksi

c e
k

−∴ = , 2 2
iksi

c e
k

=  

( )
( )

( )

,
2,

,
2

ik x s

ik x s

i
e x s

kG x s
i

e s x
k

−

− −

 − ∞ < <= 
 < < ∞


 

(a) Wronskian Approach 

( ) 1

2

sin , 0
,

,ikx

c kx x s
G x s

c e s x−

< <
= 

< < ∞
 

Displacement Continuity at x s=  

1 2sin iksc ks c e−=  

The difference in slope is 1 at x s=  

2 1 cos 1iksikc e kc ks−− − =  

1

1 iksc e
k

−−
∴ = , 2

1
sinc ks

k
−

∴ =  

( )
1

sin , 0
,

1
sin ,

iks

ikx

e kx x s
kG x s

e ks s x
k

−

−

 − < <= 
− < < ∞


 

 

 

 

 



(a) Image Method 

＋

( )
( )

( )

,
2,

,
2

ik x s

ik s x

i
e x s

kG x s
i

e s x
k

−

−

 − ∞ < <= 
 < < ∞


  System A 

( )
( )

( )

,
2,

,
2

ik x s

ik s x

i
e x s

kG x s
i

e s x
k

+

− +

− − ∞ < <=  − < < ∞


  System B 

( )
( ) ( )

( ) ( )

1
sin , 0

2 2,
1

sin ,
2 2

ik x s ik s x iks

ik s x ik s x ikx

i i
e e e kx x s

k k kG x s
i i

e e e ks s x
k k k

− − + −

− − + −

 − = − < <= 
 − = − < < ∞


  

(b) Wronskian Approach 

( ) 1

2

cos , 0
,

,ikx

c kx x s
G x s

c e s x−

< <
= 

< < ∞
 

Displacement Continuity at x s=  

1 2cos iksc ks c e−=  

x = −∞  

0u =  

0x =  x = ∞  

System B 

( ) ( ),
2

ik s xi
G x s e

k
− +−

=  ( ) ( ),
2

ik x si
G x s e

k
+−

=  

x = −∞  

0u =  

0x =  x = ∞  

System A 
( ) ( ),

2
ik s xi

G x s e
k

−=  ( ) ( ),
2

ik x si
G x s e

k
−=  

x = −∞  

0u =  

0x =  x = ∞  



The difference in slope is 1 x s=  

2 1 sin 1iksikc e kc ks−− + =  

1
iksi

c e
k

−∴ = , 2 cos
i

c ks
k

∴ =  

( )
cos , 0

,
cos ,

iks

ikx

i
e kx x s

kG x s
i

e ks s x
k

−

−

 < <= 
 < < ∞


 

(b) Image Method 

＋

( )
( )

( )

,
2,

,
2

ik x s

ik s x

i
e x s

kG x s
i

e s x
k

−

−

 − ∞ < <= 
 < < ∞


  System I 

( )
( )

( )

,
2,

,
2

i k s x

ik s x

i
e x s

kG x s
i

e s x
k

+

− +

 − ∞ < <= 
 < < ∞


  System II 

x = −∞  

0t =  

0x =  x = ∞  

System II 

( ) ( ),
2

ik s xi
G x s e

k
− +=  

( ) ( ),
2

ik x si
G x s e

k
−=  

x = −∞  

0t =  

0x =  x = ∞  

System I 

( ) ( ),
2

ik s xi
G x s e

k
−=  ( ) ( ),

2
ik x si

G x s e
k

−=  

x = −∞  

0t =  

0x =  x = ∞  



( )
( ) ( )

( ) ( )

cos , 0
2 2,

cos ,
2 2

ik x s ik s x iks

ik s x ik s x ikx

i i i
e e e kx x s

k k kG x s
i i i

e e e ks s x
k k k

− − + −

− − + −

 + = < <= 
 + = < < ∞


  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4.  
1R = , pρ = , θ θ= , 0φ =  

( )
1

2

1

sin , 1
sin

1 2 cos 1
sin , 1

m

m

m

m

p m p
p

a
p p

m p
p

θ
θ

θ
θ

∞

=

∞

=


<


= →

+ −   >   

∑

∑
 

( )
1

2

1

1 cos , 1
1 cos

1 2 cos 1
cos , 1

m

m

m

m

p m p
p

b
p p

m p
p

θ
θ

θ
θ

∞

=

∞

=


+ <

− 
= →

+ −  − >   

∑

∑
 

( )

1

1

12

1

cos , 1
cos

1 2 cos 1 1
cos , 1

m

m

m

m

p m p
p

c
p p

m p
p p

θ
θ

θ
θ

∞
−

=

+∞

=


− <

− 
= →

+ −   + >   

∑

∑
 

( ) ( )
2 1

c p b
p
× −

→
−

( )
2

1

2

2
1

1
2 cos , 1

11
1 2 cos 1 1

2 cos , 1
1

m

m

m

m

p m p
p

d
p p

m p
p p

θ

θ
θ

∞

=

∞

=

 − < −
= →

+ −   + >  −  

∑

∑
 

( ) ( )
21

b p c
p

× −
→

−

( ) ( )( )

( )

1 1

1
2

1 12

1

2

cos
, 1

1cos
1 2 cos 1 1 1

cos

, 1
1

m m

m

m m

m

p p p m
p

p
e

p p
m

p p p
p

p

θ

θ
θ

θ

∞
+ −

=

+ −∞

=


+ +

 <
−

= →  + −    − −  +           >
−

∑

∑
 

( )a
p

→ ( )

1

1

12

1

sin , 1
sin

1 2 cos 1
sin , 1

m

m

m

m

p m p

f
p p

m p
p

θ
θ

θ
θ

∞
−

=

+∞

=


<


= →

+ −   >   

∑

∑
 

 

 

 

 

 



(a) 

2 2
1

2

2 2
1

1 2
2 cos , 1

1 11
1 2 cos 1 1 2

2 cos , 1
1 1

m

m

m

m

p m d p
p p

d
p p

m d p
p p p

π
θ θ

θ
θ π

θ θ

∞

=

∞

=

  
− = <  − − 

=   + −    + = >   − −  

∑∫
∫

∑∫

Ñ
Ñ

Ñ
 

(b) 

( ) ( )cos sine fθ θ× − × → 

( ) ( )( ) ( ) ( )( )

( ) ( )( )

( ) ( )( )

( ) ( )( )

2

1 1

1
2

2
1

2
1

1 1

1

2

1

cos2
1 2 cos

1
cos cos 1 cos 1

2
1 , 1

1 2
cos 1 cos 1

2 1

cos 1 1 1 cos 1 cos 1
2

1

1 1
cos 1 cos 1

2

m m

m

m

m

m m

m

m

m

d
p p

p p p m m

p p

p
p m m d

p

m m
p p p

p

m m
p

θ
θ

θ

θ θ θ

π
θ θ θ

θ θ θ

θ θ

∞
+ −

=

∞
−

=

+ −∞

=

+

+ −

+ + − + +

− <

− − − + =
−

=     
− −  +  − + +        

−

 
− − − + 

 

∫

∑

∫
∑

∑

Ñ

Ñ

4 2
1

, 1

2

p

d
p p

π
θ

∞

=












 >

 =
 −

∫

∑

Ñ

 

(c) 

( ) 2

1

1

1 cos
,

1 2 cos

1 cos 2 , 1

1
cos 0, 1

m

m

m

m

p
T s x d d

p p

p m d p

m d p
p

θ
θ θ

θ

θ θ π

θ θ

∞

=

∞

=

−
=

+ −


+ = <

= 
  − = >   

∫ ∫

∑∫

∑∫

Ñ Ñ
Ñ
Ñ

 

(d) 

( ) ( )

( )

1

1

12

1

sin 0, 1
sin

1 2 cos 1
sin 0, 1

m

m

m

m

p m d p

d
p p

m d p
p

θ θ
θ

θ
θ

θ θ

∞
−

=

+
∞

=

 = <
= 

+ −   = >   

∑∫
∫

∑∫

Ñ
Ñ

Ñ
 

(e) 

( ) 12

1

1 cos 0, 1

ln 1 2 cos ln
1 1

ln cos 2 ln , 1

m

m

m

m

p m d p
m

p p d rd

p m d p p
m p

θ θ

θ θ θ

θ θ π

∞

=

∞

=

 − = <
+ − = = 

  − = >   

∑∫
∫ ∫

∑∫

Ñ
Ñ Ñ

Ñ
 



 

5.  

( )
( ) ( ) ( ) ( )

( ) ( ) ( ) ( )

1 2
1 2

1 2
1 2

, ,
,

,
, ,

,

s s

x x

L s x L s x
L s x n i j n i n j

s s
M s x

T s x T s x
T s x n i j n i n j

x x

 ∂ ∂ 
∇ = + +  ∂ ∂  

= 
∂ ∂ ∇ = + +  ∂ ∂ 

i i% %% %

i i% %% %

 

( ) ( ) ( )1 1 2 2
1 22 2,

s x s x
L s x n n

r r
− − − −

= + , ( ) ( ) ( )1 1 2 2
1 22 2,

s x s x
T s x n n

r r
− −

= +  

( )
( )

( )

2 2
1 1 2 1 2 2 1 1 2 2

1 1 1 2 1 2 2 24 4 4 4 2

2 2
1 1 2 1 2 2 1 1 2 2

1 1 1 2 1 2 2 24 4 4 4 2

2 2 2 2
,

,
2 2 2 2

,

y y y y y y n n n n
n n n n n n n n From T s x

r r r r rM s x
y y y y y y n n n n

n n n n n n n n From L s x
r r r r r

 +
+ + + −

= 
+ + + + −

 

( ) ( )
( )( )

( )( )

1

1
1

1

1
1

cos ,
,

,

cos ,

m

m
m

m

m
m

m m R
RT s x

M s x
R

m m R

ρ
θ φ ρ

ρ
θ φ ρ

ρ

−∞

+
=

−∞

+
=

  
− ≥  

∂   = = 
∂   − <   

∑

∑
 

( ) ( )
( )( )

( )( )

1

1
1

1

1
1

cos ,
,

,

cos ,

m

m
m

m

m
m

m m R
RL s x

M s x
R R

m m R

ρ
θ φ ρ

θ φ ρ
ρ

−∞

+
=

−∞

+
=

  
− ≥  

∂   = = 
∂   − <   

∑

∑
 

 


